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BOARD QUESTION PAPER: JULY 2019

English Kumarbharati

Time: 3 Hours

Total Marks: 100
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Section — I
(Language Study)

Do as Directed:

Pick out the present participle from the sentence:
I don’t like frightening stories.

Werite the ‘root word’ of the given word:

Unable

Choose the appropriate alternative:
Neeta spoke in an tone.
(excited/excitedly)

Fill in the blank with the proper form of the verb as per the subject:
Mother a good meal.
(cook/ cooks)

Make a meaningful sentence by using the following phrase:
to get out of.

Identify the kind of sentence:
Can you please tell me what you just heard?

Spot the error in the following sentence and rewrite it:
The hermit did not paid anything to the king.

Rearrange the letters to make a meaningful word:
yonnaed

Do as Directed:

Make a word register of four words related with:
‘Military”’.

Identify the clause and state its kind:

When he saw me on the road, he began to run.

Change the following sentences in indirect narration:
He asked, “Can you cook?”

I had misjudged my man.
(Begin the sentence with “My man )

Do as Directed:

Use the following word in two different sentences as a noun and as a verb:

‘Watch’.

Taj Mahal is the most beautiful monument in India.

Begin the sentence with

a. No other b. Taj Mahal is more
Section — 11

Textual Passages
(Reading Skills, Vocabulary and Grammar)

Read the following passage and do the given activities.

Choose the correct alternatives to the given statement:

1. Dr. Kalam was invited to
a. Swamiji’s programme
b. attend 102nd birthday celebration
c. meet Swamiji
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il. Swamiji looked as steady and alert as any other present there.
a. Elder
b. Person
c. Youngster

iii.  In Swamiji’s Ashram more than children are taking education.
a. Nine thousand
b. Nineteen thousand
c. Seven thousand

iv.  Dr. Kalam was deeply touched by
a. Birthday celebration
b. Swamiji’s inner strength
c. Swamiji’s Ashram

In April 2009, Dr. Kalam was invited to attend the 102nd birthday celebrations of His
Holiness Dr. Sri Sri Shivakumara Mahaswamiji in the Tumkur district of Karnataka.
Mahaswamiji is a remarkable person, who has dedicated his life to the service of humanity.
His greatest contribution is the establishment of a free residential education system for more
than nine thousand children in the ashram. The most astonishing aspect of the entire event of
his birthday was that the 102 year old Swamiji stood on his feet without any support! He
looked as steady and alert as any other youngster present there. This display of inner strength
touched Dr. Kalam deeply.

A couple of days later, we were discussing this unusual birthday party. I said to him,
“Sir, do you know, only four out of 1 lakh people cross the age of 100?” I had googled the
subject beforehand. He replied, ‘But how many of these four would be able to stand tall for
half an hour, give a wise discourse, and then go on to feed thousands of children?” Of course
nobody could know the exact answer to his question but the question itself led to many other
relevant queries. ‘I wonder what powers Mahaswamiji possesses that keep him so strong at
such an advanced age? Maybe it’s a balanced diet and a healthy lifestyle, or perhaps it’s
genetics?’ I asked.

Find evidences from the passage that indicates that Swamiji: 2)
1. was dedicated
il. had inner strength
iii.  contributed to the good of the society
iv.  was younger than the young generation.
Find out the noun forms of the following from the passage: 2)
1. celebrate
il. contribute
iii.  educate
iv.  strong
Do as directed: (2)
1. I had googled the subject beforehand.
(Identify the tense of the sentence)
il. We were discussing this unusual birthday party.
(Add a question tag)
Personal Response: (2)
What measures will you take to keep yourself physically and mentally fit?
Read the following passage and do the given activities: [10 marks]
Choose the correct options from the bracket and fill in the blanks: 2)

(younger, eighty, twenty, interval)

1. I went over during the and sat down beside her.
ii.  None of us are getting any

iii. It was years ago.

iv.  Thad francs to last me the rest of the month.
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I caught sight of her at the play and in answer to her call. I went over during the
interval and sat down beside her. It was long since I had last seen her and, if someone had not
mentioned her name, I hardly think I would have recognised her. She addressed me brightly.

“Well, it’s many years since we first met. How time does fly! We’re none of us getting
any younger. Do you remember the first time I saw you? You asked me to luncheon.”

Did I remember?

It was twenty years ago and I was living in Paris. I had a tiny apartment and [ was earning
barely enough money. She had read a book of mine and had written to me about it. I
answered, thanking her, and presently, I received from her another letter saying she was
passing through Paris and would like to have a chat with me. But her time was limited and the
only free moment she had was on the following Thursday and would I give her a little
luncheon at Foyot’s afterwards? Foyot’s is a restaurant and it was so far beyond my means
that I had never even thought of going there. I had eighty francs (gold francs) to last me the
rest of the month and a modest luncheon should not cost more than fifteen. If I cut out coffee
for the next two weeks, I could manage well enough.

Where and when did they decide to have luncheon? 2)
Find out the ‘Synonyms’ from the passage for the following words: 2)
i. A set of rooms
il. Acknowledged
iii.  Handle
iv.  Directed.
Do as directed: 2)
1. I hardly think about it.
(Begin the sentence with ‘How )]
ii. She had read a book of mine.
(Begin the sentence with ‘Hadn’t 7
Personal Response: (2)
If you were in the place of the narrator, how would you have reacted in the given situation?
Section — 111
(Poetry)
Read the following extract and do the given activities: [05 marks]
Match the following: (2)
5A’ 5B’

i. | Infant a. | Act like the pard

ii. | School boy b. | Mewling and puking

iii. | Lover c. | Whining

iv. | Solider d. | Sighing like furnace

All the world’s a stage

And all the men and women merely players;
They have their exits and their entrances,

And one man in his time plays many parts,

His acts being seven ages. At first, the infant,
Mewling and puking in the nurse’s arms.

Then the whining schoolboy, with his satchel
And shining morning face, creeping like snail
Unwillingly to school. And then the lover,
Sighing like furnace, with a woeful ballad
Made to his mistress’ eyebrow. Then a solider,
Full of strange oaths and bearded like the pard,
Jealous in honour, sudden and quick in quarrel,
Seeking the bubble reputation

Even in the cannon’s mouth
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Complete the following table: 2)

Stages of man Role Qualities/Action
First
Second

All the world’s stage: (H)
a. Alliteration

b. Metaphor

c. Simile

(Choose the correct answer from the given options and explain the chosen figure of
speech)

Read the following poem and write an appreciation of it with the help of the given points in
paragraph format. [10 marks]

Night of the Scorpion

I remember the night my mother
was stung by a scorpion. Ten hours
of steady rain had driven him

to crawl beneath a sack of rice.

Parting with his poison — flash
of diabolic tail in the dark room —
he risked the rain again.

The peasants came like swarms of flies
and buzzed the name of God a hundred times
to paralyse the Evil One.

With candles and with lanterns

throwing giant scorpion shadows

on the mud-baked walls

they searched for him: he was not found.
They clicked their tongues.

With every movement that the scorpion made his poison
moved in Mother’s blood, they said.

May he sit still, they said

May the sins of your previous birth

be burned away tonight, they said.

May your suffering decrease

the misfortunes of your next birth, they said.
May the sum of all evil

balanced in this unreal world

against the sum of good

become diminished by your pain.

May the poison purify your flesh

of desire, and your spirit of ambition,
they said, and they sat around

on the floor with my mother in the centre,
the peace of understanding on each face.

More candles, more lanterns, more neighbours,
more insects, and the endless rain.

My mother twisted through and through,
groaning on a mat.

My father, sceptic, rationalist,

trying every curse and blessing,

powder, mixture, herb and hybrid.

He even poured a little paraffin

upon the bitten toe and put a match to it.
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I watched the flame feeding on my mother.

I watched the holy man perform his rites to tame the
poison with an incantation.

After twenty hours

it lost its sting.

My mother only said
Thank God the scorpion picked on me
And spared my children.

— Nissim Ezekiel

You can use the following points while appreciating the given poem:

1. Title (1)
il. Poet (1)
iii.  Theme/Central idea 2)
iv.  Rhyme scheme (1)
V. Figures of speech (1
vi.  Special features (type of the poem, imagery, implied meaning if any etc.) 2)
vii.  Favourite lines (1)
viii. Why I like/don’t like the poem. (1)
Section — 1V

Non-textual Passage
(Reading Skills, Vocabulary, Grammar and Summary)

Q.4. A. Read the following passage and do the given activities. [10 marks]
Al. State whether the following statements are true or false: 2)
1. The narrator writes comics.

il. Sudhir qualified as a friend.
iii.  The narrator met Sudhir in Dehra.
iv.  Friendship is all about disintegration.

FRIENDSHIP IS ALL ABOUT DOING THINGS TOGETHER. IT MAY BE
Climbing a mountain, fishing in a mountain stream, cycling along a country road, camping in
a forest clearing or simply travelling together and sharing the experiences that a new place
can bring.

On at least two of these counts, Sudhir qualified as a friend, albeit a troublesome one,
given to involving me in his adolescent escapades.

I met him in Dehra soon after my return from England. He turned up at my room,
saying he’d heard I was a writer and did I have any comics to lend him?

“I don’t write comics”, I said; but there were some comics lying around, left over from
my own boyhood collection. So I gave these to the lanky youth who stood smiling in the
doorway, and he thanked me and said he’d bring them back. From my window, I saw him
cycling off in the general direction of Dalanwala.

He turned up again a few days later and dumped a large pile of new-looking comics on
my desk. “Here are all the latest”, he announced. “You can keep them for me. I'm not
allowed to read comics at home”.

A2. Complete the web chart with the information from the passage: 2)
i
Friendship is all ii.
about doing things
like - iii.
iv.
A3. Find out four compound words from the passage. 2)
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Do as directed: (2)
1. I am not allowed to read comics at home.
(Pick out the infinitive)
ii. From my window, I saw him cycling.
(Use ‘when’ and rewrite the sentence)
According to you, what are the qualities of a good friend? 2)

Read the passage given in question 4(A) and write a summary of it in a paragraph. Suggest a
suitable title. 5)

Section — V
(Writing Skills)
Letter Writing: 3)
Al or A2. Do any one of the following.
Look at the following situation:

Kalpana/Kiran Shah residing at Geeta Apts, Shrinagar, Nanded-431602
witnessed an accident near St. Lawrance High School, Nanded, where a
child fell down and was hurt badly after a hit and run incident. Many
people were standing around, but did not know what to do. Finally the
child was carrried to the hospital by a taxi driver.

/ N\

Al. Formal Letter A2. Informal Letter
Write a letter to the editor Write a letter to your mother
‘The Times of India’, expressing your feelings
Churchgate, Mumbai telling about how people fail to
in short about the incident provide necessary help to an

and requesting him to write an accident victim.
article on the importance of
road safety in his newspaper.

Do any one of the following (B1 or B2): o)
You have celebrated an ‘Environment Conservation Week’ in your school. It was graced by a
well-known environmentalist.

B1. Dialogue B2. Interview
Prepare a dialogue between Prepare a set of 8 questions that
Vinod/Veena and the you will ask to a well-known
environmentalist environmentalist.
Mr. Pramod Joshi about the Points: — Natural hazards
problems of our environment — Global warming
and its effects on all the people. — Measures taken
— Deforestation
— Add more points of your own

Information Transfer 5)

Read the following text and present the information in a tabular form:

Raja Ram Mohan Roy was a zealous social worker holding modern and progressive
views. He firmly stood against social bigotry, conservation and superstition and advocated
English and Western Education for his fellowmen. He knew many languages viz English,
Persian, Arabic, Latin, French and even Hebrew. He was born in 1772 in West Bengal. He
joined East India Company in 1805. The title ‘Raja’ was conferred on Ram Mohan Roy by
the Mogul Emperor. In 1814 he founded the Atmiya Sabha and in 1828 the ‘Brahmo Samaj’.
He abolished ‘sati’, child marriage and the purdah. He is rightly called the ‘father of Indian
Renaissance’ or the ‘Father of Indian Nationalism’. He died on 27 Sept. 1833 in England.
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Name

Date of Birth

111 practices abolished :

Institutions launched

Languages known

OR

Transfer the information into a paragraph:
Read the following web diagram to transform into a paragraph:

Lack of proper
study habits
. Wa.stlng top much 1 TV/Films
time in playing games
Reasons for the
) low performance | Lack of
Bad Company of students in motivation
exams
Low Aims L.ack Q)
v environment
Lack of proper
guidance
Attempt any one of the following: 5)
Speech:

Prepare a speech to be delivered in the school assembly on ‘Science and spirituality go hand
in hand’. Use the following points:

. Can work together

Can explain lot of things of life.

Gives scope for reasoning and thinking.

Can give scope for intelligence and creativity.

Can make more and more discoveries.

OR

Computer has modernized education
Prepare a paragraph of counterviews on the given topic. Use the following view to write your
counterview.

. Information is easily available.
. Online study possible.
. Audio-visual studies available.

(Add more details and write a paragraph)

Section — VI
(Creative Writing)

Do any one of the following:

Expand the theme: o)
Expand the following idea into a paragraph of 100 words:

“Bad workman blames his tools”.

News Report:

Write a news report based on the given headline:

‘Snatch Theft is on the Rise’.

Use the given information:

While shopping in your local market you witnessed a theft take place. The thief was not
caught.
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Points:

. When and where the theft take place?

. How the theft was carried out?

. A description of the thief.

. Which other people were present and what they did?

Do any one of the following:

Developing a story:
Develop a story suitable to the conclusion/end given below. Suggest suitable title.
in this way his sons learnt, ‘united we stand divided we fall’.

OR

Narrate an experience:
Narrate an experience of your own that has helped you to realise that ‘patience is bitter, but its
fruit is sweet’. Write it in about 100 words.
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Q.1.

(A)

ii.

iil.

iv.

(B)

ii.

iii.

iv.
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BOARD QUESTION PAPER: July 2019

Science and Technology Part - 1

Time: 2 Hours Total Marks: 40

Solve the following questions: [5]
Fill in the blank and rewrite the sentence: (D)
The initial velocity (during launching) of the Mangal-Yaan must be greater than of
the earth.
Match the pairs: (2)
Group ‘A’ Group ‘B’
i. | Ethanol a. | Hydrogen peroxide
ii. | Methane b. | Tincture iodine
c. | Biogas
d. | Non-stick cookware

Write co-relation: (1)
Molecular formula of beryllium oxide: BeO :: Molecular formula of beryllium chloride :

Write whether the following statement is true or false: e
Simple microscope is used for watch repairs.

Choose the correct alternative and rewrite the statement: [5]
Combustion of coal in air is a reaction.

(A) combination (B) displacement

(C) decomposition (D) double displacement

When electric current is passed through the solenoid, it shows magnetic lines of force similar
toa

(A) bar magnet (B) horse shoe magnet

(C) disk magnet (D) spherical magnet
The crystals of ferrous sulphate are .

(A) Blue in colour (B) Pink in colour
(C) Pale green in colour (D) Colourless

A laser beam enters from air to soap solution in water then

(A) it goes away from the normal (B) it bends towards the normal
(C) it travels straight without bending (D) it returns back into air
When temperature of water is reduced below °C, it expands.

(A) 0 B) 4 © s (D) 12
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Q.2. Solve the following questions (any five):

Q.3.

1.

ii.

iii.

iv.

V.

Vi.

Vii.

Solve the following questions (any five):

1.

ii.

iil.

iv.

Vi.

Vii.

www.saiphy.com

[10]
If mass of a planet is eight times the mass of the earth and its radius is twice the radius of the earth,
what will be the ratio of escape velocity of earth to the escape velocity on the planet?

Explain why value of g changes if we go inside the earth.

Complete the following flowchart and write the general formula of alkane:

CH4

CsHg CsHpz

What is a geostationary satellite? Why are geostationary satellites not useful for studies of polar region?

If the speed of light in a medium is 1.5 x 10® m/s, what is the absolute refractive index of the medium?
(Velocity of light in vacuum 3 x 10® m/s)

In two methods of control of corrosion of aluminium, either a layer of aluminium oxide is formed or a
silver plating is done on the surface. State to which electrode the aluminium article is attached in these
methods respectively.

Write down any two rules used for drawing ray diagrams for the formation of image by convex lens.

[15]
An object thrown vertically upwards reaches a height of 500 m. What was its initial velocity?
How long will the object take to come back to the earth? (g = 10 m/s?)

Explain the similarity and difference in two events namely adding NaOH to water and adding
CaO to water.

Observe the following reaction carefully and answer the sub-questions:
NH; + HCI — NH4Cl1

a. What are the salt and acid in the above reaction?
b. Which is the base in the above reaction? It is weak or strong?
c. Write a reaction showing dissociation of this base in water.

Explain the following temperature Vs. time graph:

Boiling water + Vapour

100
90
80

C D

Liquid — Gaseous state

oC 70
60 &
50 &
40 1 N
30
20
101A B

0,0) /T
2 4

Ice + Water
(Solid + liquid)

| N N N I N N N Y Y O B N I
6 810 121416 18 2022 24 262830 32 34

Time (Minutes) ——

Doctor has prescribed a lens having power +1.5 D for correction of eye defect. What will be
the focal length of the lens? What is the type of the lens and what must be the defect of
vision?

Give scientific reason:
Anodes need to be replaced from time to time during the electrolysis of alumina.

What is meant by Vinegar and Gashol? What are their uses?
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Q.4. Solve the following questions (any one):
i Observe the following diagram and write the answers of the following questions:

1.

il.

[5]

1 2 13 14 15 16 17 18
H He
1 1 2
Li Be B C N o F Ne
2 2,1 | 22 2,3 | 2,4 | 2,5 | 2,6 | 2,7 | 2,8
Na Mg Al Si P S Cl Ar
312,812,822 2,8,312,8,4|2,85|2,86(2,87(2,8,8
K Ca
4 12,8,8,12,8,82
Sr
5
= T {$(®
6
1
Ra 2
7 3
4 Argon atom
Potassium atom g
a. Write the atomic numbers of first two elements in the second group.
b. Write the number of valence electrons of the elements in the halogen group.
c. Draw the diagram of electronic configuration of magnesium atom.
d. After completion of a period, what change does take place in the electronic
configuration of the next element?
e. Write the names of any two elements from the diagram which do not take part in

chemical reaction.

Observe the following diagram and write the answers of the given sub-questions:

Conducting

ring

State the rule.

o o

that situation?

Magnetic field
_—

B

Coil

C

Which instrument the above figure shows?
Which rule is used to determine the direction of the current produced?

In which direction (B; to B, or B to B1) will the current flow in the external circuit in

e. What change will have to be made in the coil for increasing the current several times

without changing the magnet?
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BOARD QUESTION PAPER: July 2019

Science and Technology Part - 2

Time: 2 Hours

Total Marks: 40

1. (A) Solve the following questions: [5]
i Match the columns: 2)
Column ‘A’ Column ‘B’
a. | Haemoglobin 1. | Skin
b. | Ossein 2. | Blood
3. | Bones
ii. Find odd one out: (1)
Diabetes, Anaemia, Leukemia, Thalassemia
iii.  Write the correct co-relation: (D)
Transverse Binary Fission : Paramoecium :: Longitudinal Binary Fission :
iv.  Who am I? (1)
I have suckers. I am blood sucking ectoparasite and my body is segmented.
(B) Choose the correct alternative and rewrite the sentences: [5]
1. Calcareous spines are present on the body of animal. (1)
(A) Fish (B)  Snail
(C) Sponge (D) Star fish
ii. beverage is obtained by fermentation of apple juice. (1)
(A) Cider (B) Wine
(C) Coffee (D) Cocoa
iii. is man-made disaster. Q)]
(A) Earthquake (B) Flood
(C) Leakage of poisonous gas (D) Meteorite
iv. microbes provide organic manure to the paddy fields. (1
(A) Azolla (B) Anabaena
(C) Azotobacter (D)  Acetobacter
V. The length of a sperm is about micrometers. (1)
(A) 400 B) 5
(© 60 (D) 600
2. Answer the following questions (any five): [10]
1. Hydroelectric energy, solar energy and wind energy are called renewable energies. Why? 2)
il Complete the following table: 2)

Plant/Microbes Function
1. Pteris vitata
2. Pseudomonas
3. | Absorption of uranium and arsenic
4, | Absorption of radiations of nuclear waste
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iii.  Define vestigial organs. Write any two names of vestigial organs in human body.

iv.  Despite of various diagnostic tests, a couple could not have a child. In this situation, which
remedies will you suggest?

V. Write any four harmful effects of consumption of alcoholic drinks on human body.

vi.  Complete the following table:

Source Microbe Amino Acid

Sugar molasses and salt Citric acid

Lactobacillus delbrueckii

Corn steep liquor Aspergillus itaconius

vii.  First aid training is essential. Why?

Answer the following questions (any five):
1. What will you do? Why?

a. Child of your neighbour is addicted to tobacco chewing?
Your friend has developed the hobby of snapping selfies.
c. Your sister has become incommunicable. She prefers to remain alone.
il. a. Write main types of vitamins.
Name water soluble vitamins.
c. Name fat soluble vitamins.

iii.  Complete the flow chart:

( Ecosystem ]

v
Biotic components
|
v
Autotrophic |
| { l
Producers Animals Decomposers
Plants

iv.  a What are the meaning of the following symbols? Write your role accordingly.
“ ™ ----
‘ o (BN AEER
L
<* . S
A B C
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v.  The building in which you are residing has caught fire on the ground floor. What necessary
rescue steps will you take?

vi  Explain with suitable examples importance of anatomical evidences in evolution.

vii.  Answer the following questions:

a. In our country, there seems to be lack of awareness regarding reproductive health.
Why?
b. Write the symptoms of disease gonorrhea.
c. What precautions will you take maintain reproductive health?
Answer any one of the following questions:
1. Identify the class of given animals and write one characteristic of each animal:
a. Kangaroo b. Penguin c. Crocodile
d. Frog e. Sea-horse
ii.  Draw schematic of power plant based on natural gas and answer the following questions:
1. At which place natural gas power plant is situated in Maharashtra?
il. How is pollution reduced in natural gas based power plant?

iii.  Give two examples of eco-friendly electricity process.
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3)
€)

(1)
(1)
(1

[5]



www.saiphy.com

BOARD QUESTION PAPER: July 2019
Maths Part - |

Time: 2 Hours Max. Marks: 40

1. (A) Solve the following questions (Any four): [4]
1. If| 7| x | 4 | = a, then find the value of a.
ii. Ifx+y=5and x—y=1, then find the value of x.
iii.  Find the median of the scores 7, 10, 5, 8, 9.
iv.  Write the degree of Polynomial 5x* + 2x + 3x* + 4.
V. IfA=1{1,2,3,4,5} and B={1,3,7},then AnB="?
vi.  Find out the ratio of ] mmto 1 cm.

(B) Solve the following questions (Any two): [4]
1. Find the factors of the Polynomial 3x* — 2x — 1.
il. [JABCD is a parallelogram. The ratio of measures of £ A and £ B is 5 : 4. Find the measure
of £ B.
iii.  Alka spends 90% of the money that she gets every month and saves ¥120. How much money
does she get monthly?

2. (A) Choose the correct alternative: [4]
1. Find the value of >3
~7 -4
A -1 B) -41 (©) 41 D) 1
ii.  Out of the following equations which one is not a quadratic equation?
(A) xX*+4x=11+x2 (B) x?=4x
(©) 5x*=90 (D) 2x—-x*=x>+5

i, Ifn(A)=2,p(A)= % , then n(S) = ?

(A) 10 B) 2 < 5 (D) 20
iv. Foragiven AP.,a=3.5,d=0,thent,=
(A) 0 B) 35 (C) 1035 (D) 104.5
(B) Solve the following questions (Any two): [4]

1. Find the value of k, if x = 3 is a root of the equation kx* — 10x +3 =0

ii.  Market value of a share is ¥ 200. If the brokerage rate is 0.3%, then find the purchase value of
the share.

iii.  The following table shows the number of students and the time they utilized daily for their
studies. Find the mean time, spent by students for their studies:

Time (hrs.) No. of Students
0-2 8
2-4 14
4-6 18
6-8 10
8-10 10
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3.

(A) Complete the following activities (Any two):
i There are 9 tickets in a box, each bearing one of the numbers from 1 to 9. One ticket is drawn

1.

ii.

iii.
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at random from the box.
Event A: Ticket shows an even number.

Complete the following activity from the given information:

Activity:

N —
") =[]
Y —
=[]

Complete the following activity to form a quadratic equation.

Activity:

I am a quadratic equation

l

My standard form in I:I

}

My roots are 3 and 4.

)

.. Sum of my roots = I:I
and product of my roots = I:I

l

. My equation is I:I

Complete the following activity to find the number of natural numbers between 1 and 171,

which are divisible by 5:
Activity

From 1 to 171, natural numbers
divisible by 5 are

l

5,10, 15, , 170

l

In this A.P.

a=[].d=[ ] t=170
}

th=a+(n-1)d
!
170=5+@m-)x [ |
!
n=[__ |

www.saiphy.com

[4]



www.saiphy.com

(B) Solve the following questions (Any two): [4]
i. Solve the following simultaneous equations:
4x+3y=11;3x+4y=10
il. Find the 23" term of the following A.P.:
9,4,-1,-6,-11, ...
iii.  Find the mode from the following information:
=10,h=2, =58, fi=70, £, =42.
4. Solve the following questions (Any three): [9]

i. Solve the following simultaneous equations graphically:
x+ty=2x—-y=4.

ii. Sachin invested some amounts in National Saving Certificates in a specific way. In the first
year he invested ¥ 4,000 in the second year ¥ 6,000 in the third year ¥ 8,000 and so on for
12 years. Find the total amount he invested in 12 years.

iii. A readymade garment shopkeeper gives 5% discount on a dress of ¥ 2,000 and charges
5% GST on the remaining amount. What is the purchase price of the dress for the customer?

iv. A bag contains 3 red, 3 white, 3 green and 3 black balls. One ball is picked up from the bag at
random. What is the probability that the ball drawn is:

a. white
b. not white.
5. Solve the following questions (Any one): (4]

1. Out of 555 km, Vishal travelled certain distance by bus and remaining distance by car. Bus
travels with an average speed of 60 km/hr and the average speed of car is 75 km/hr. He takes
total 8 hours to complete the journey. Find the distance that Vishal travelled by bus.

ii.  The time required for some students to complete a science experiment and the number of
students is shown in the following grouped frequency distribution table. Draw the frequency
polygon with the help of histogram using given information:

Time req}llred Number of
for experiment
. Students
(minutes)
20-22 6
22 -24 14
24 -26 20
26— 28 16
28 —30 12
30-32 10
6. Solve the following questions (Any one): [3]

1.

ii.

Construct a word problem on quadratic equation, such that one of its answers is 20 (years,
rupees, centimetre etc.). Also solve it.

A student made a cube shaped die from a card sheet. Instead of writing numbers 1, 2, 3, 4, 5,
6 on its faces, he wrote letters a, b, c, d, e, f; one on each face, randomly. If he rolls the die
twice, find the probability that he gets a vowel on the upper face both times.
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BOARD QUESTION PAPER: July 2019
Maths Part - Il

Time: 2 Hours Max. Marks: 40

1. (A) Solve the following questions (Any four): [4]
1. Point M is the mid-point of segment AB. If AB = 8.6 cm, then find AM.

ii. Write the equations of x-axis and y-axis.

1il. n

A

In the above figure, line /|| line m and line # is a transversal. Using the given information find
the value of x.

iv. Ifsin0= % . then find the value of 0.

V. If the side of a cube is 5 cm, then find its volume.

vi. In ADEF, if £ E =90°, then find the value of £ D + £ F.

(B) Solve the following questions (Any two): [4]
1. Draw seg AB = 6.8 cm and draw perpendicular bisector of it.

ii.  If A ABC ~ A DEF, then write the corresponding congruent angles and also write the ratio of
corresponding sides.

iii.  Perpendicular height of a cone is 12 cm and its slant height is 13 ¢cm. Find the radius of the
base of cone.

2. (A) Choose the correct alternative: (4]
1. In right-angled triangle PQR, if hypotenuse PR = 12 and PQ = 6, then what is the measure of
£ZP?
(A) 30° B) 60° (€ 90° (D) 45°

ii.  IfAABC~APQR and 4A (A ABC) =25 A(A PQR), then AB : PQ =?
(A) 4:25 B) 2:5 C) 5:2 (D) 25:4
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iv.

(B)

il.

iii.

(A)

ii.
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If the points, A, B, C are non-collinear points, then how many circles can be drawn which
passes through points A, B and C ?

(A) two (B) three (C) one (D) infinite

sin O x cosec 6 =7

A) 2 ® © 0 D) 1

Solve the following questions (Any two):
Construct a tangent to a circle with centre O and radius 3.5 cm at a point P on it.

Find the slope of the line passing through the points A(4 , 7) and B (2, 3).

If the length of an arc of sector of a circle is 20 cm and if radius is 7 cm, find the area of the
sector.

Complete the following activities (Any two):

N
g

A -~
fes
|
o]
/
A
A

In the above figure, line AB || line CD || line EF , line / and line m are its transversals. If
AC =6, CE =9. BD =38, then complete the following activity to find DF.
Activity:

ac _[]
[] DF

(Property of three parallel lines and their transversal)

&
A 4

14 cm

A circle is inscribed in square ABCD of side 14 cm. Complete the following activity to find
the area of shaded portion.

Activity:

Area of square ABCD = |:|
=14°
=196 cm’
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Area of circle = m°
22
= x

72

7
_ 2
~[Jem
Area of shaded portion = Area of square ABCD — Area of circle
=196 |
= |:| cm’

iii.  In the following figure, O is the centre of the circle. £ ABC is inscribed in arc ABC and
Z ABC = 65°. Complete the following activity to find the measure of £ AOC.

B

1 .
Z ABC= — I bed angle th
5 m |:| (Inscribed angle theorem)

|:| x 2 =m(arc AXC)
m(arc AXC) = |:|
£ AOC =m(arc AXC) (Definition of measure of an arc)
ZA0C= ]
(B) Solve the following questions (Any two):
1. Find the side and perimeter of a square whose diagonal is 13+/2 cm.
il. Find the co-ordinates of the centroid of the A PQR, whose vertices are P(3, —5), Q(4, 3) and
R(11,-4)
iii.  Ifcos = % , then find sin 0.

Solve the following questions (Any three):
i. Verify that the points A(-2, 2), B(2, 2) and C(2, 7) are the vertices of right-angled triangle.

il. Prove that: l—s%ne = secH—tan O
1+5sin0

iii.  In A ABC, seg AP is a median. If BC = 18, AB*+AC? = 260, then find the length of AP.

iv. A ABC~ALMN. InA ABC, AB=5.5cm, BC=6cm, CA=4.5cm. If MN = 4.8 cm, then
construct A ABC and A LMN.

Solve the following questions (Any one):
1.

P R
Q

X z
y

A B C
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In the above figure, seg PA, seg QB and RC are perpendicular to seg AC. From the

. . . . 1 1 1
information given in the figure, prove that: —+ —=—.
X z y

In the above figure, the circles with P, Q and R intersect at points B, C, D and E as shown.
Lines CB and ED intersect in point M. Lines drawn from point M touch the circles at points
A and F. Prove that MA = MF.

Solve the following questions (Any one):

1.

il.

A

C

O

B
In the above figure, seg AB is a diameter of a circle with centre P. C is any point on the circle.
seg CE L seg AB. Prove that CE is the geometric mean of AE and EB. Write the proof with
the help of following steps:
a. Draw ray CE. It intersects the circle at D.
b. Show that CE = ED.
c. Write the result using theorem of intersection of chords inside a circle.
d. Using CE = ED, complete the proof.

/7
/
S
ey
7 7/
v 7/
7z 7
7z 7
7z 4
",
—”/’
o-

In the above figure, a sphere is placed in a cylinder. It touches the top, bottom and the curved

surface of the cylinder. If radius of the base of cylinder is ‘7’, write the answer of the

following questions.

a. What is the height of the cylinder in terms of ‘»’?

b. What is the ratio of the curved surface area of the cylinder and the surface area of the
sphere?

c¢.  What is the ratio of volumes of the cylinder and of the sphere?
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